1D pull distribution
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asym_bcm_target RMS (ppm)
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1D pull distribution
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_an_ds3 RMS (ppm)
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asym_bcm_dg_us RMS (ppm)
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1D pull distribution
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asym_bcm_dg_ds RMS (ppm)
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1D pull distribution
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diff_bpmE RMS (um)
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1D pull distribution
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diff_bpm4aX RMS (um)
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1D pull distribution
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diff_bpm4eX RMS (um)

_______
@Q
©

(wn) SNY

S'/v8Y
V' Lv8Y
€'Lv8Yy
c'Ly8Yy
T'Lv8Y
0'Lv8Y
7'or8y
£or8y
2'9r8Yy
Tov8y
0'9r8Y
ac1¢14
€'av8Y
2'Sv8Yy
T'sv8y
0's¥8Y
lA2¢14
214
[A2¢:14
T'vv8y
0'vv8y
S'EV8Y
V'evsy
£erey
[aa72:14
T'evsy
0’8y
€8y
T8y
T'Tv8y
0'Tv8Y
7'or8y
£0ovey
o8y
Tovsy
0'or8y
'6E8Y
£'6E8Y
c'eesy
T'6E8Y
0'6E8Y
£'8e8Y
2'8e8Y
T'8e8y
0'8e8Y
v'Le8Y
€',E8y
c'lesy
T'Le8Y
0',e8Y
7'9E8Y
€9es8y
2'9E8Y
T'9g8y
0'9e8Y



g 8 ° ° © 5 3 g
) 5} Py N < o
bal o2} 2 + e} hal
o S ™ © [=} o
+ °© @ N H H 7
© H = o ~ -
~ o 9 2 -
g & 8§ R -
m. 3 < =] E
S z - .
> o H . = -
[ 5] K] k] 8 © —]
] ) 5] T |5 ] H g
c 3} o B g = 5 5] 1= ]
o = 4] =) o < () = n
=
=}
o L
= f .
2 ]
© _Lp .
= _ .
o —
(@)
i
P T R | P R ST T R
< N o [ee] © < N o
— — —
< W0
O N
-~
< —
—_——— —
m+_ -
n X 3
—_————— —
N .
N~ -
ey .
— — — .
© .
c -
- -
NP =} —_—— —
< Q| ]
€ -
c -
~ —_— —
> .
© ]
m -
—_— -
Q [ —
b_ —— —
= ————— .
ko] [ .
—_——— —
—_— i —
—— —
—_— —
— —
11 1111 | 1111




diff_bpm4aY RMS (um)
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diff_bpm4eY (nm)
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diff_bpm4eY RMS (um)
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1D pull distribution
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diff_bpm11X RMS (um)
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1D pull distribution
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asym_atr2 RMS (ppm)
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